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Ajmal National Talent Search Examination, 2008
Class : VIII

Time/a]Ì̂  : 2 hours /H³Oôç Full Marks/ ]ÇPö X¶�ö» : (25+25+25+25)=100

INSTRUCTIONS / ×XãVÛ̀ ç¾_Ý f
1. Attempt All Questions. / YÒãTöîEõäOôç YÒ̀ Â» =wø» Eõ»ç*
2. There are four options to each question. Choose the correct option by putting any one of a, b, c or d,

in the box / YÒ×TöäOôç YÒ̀ Â» $Jôç×»Oôç ×[ýEõ� =wø» ×VÌ̂ ç %çä$K÷* £�ù =wø»äOôç [ýç×$K÷ =×_Ì̂ ç+ EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*

General Knowledge / açWýç»S pûçX

1. Find the Missing number and put it in the  blank box.
Fç×_ UEõç [ýçEõ$Jôö "?' Tö £�ù =wø»ãOôç ×_Fç--

1 0 16 18

4 8 2

1 2 16 ?

a) 56 b) 48 c) 32 d) 92

2. Which of the following is a mismatch?
Tö_» åEõçXäOôç %×]_ ?
i) Have and have nots/ %çä$K÷ %ç»Ó Xç+ 1) Conditions / $JôTöÛaçãYãlù
ii) Yes and No / c÷Ì̂  %ç»Ó Xc÷Ì̂ 2) Supporters & opponents / Yãlù %ç»Ó ×[ýYãlù
iii) Ifs and buts / ̂ ×V %ç»Ó ×EõÜ�Çö 3) Rich & Poor / WýXÝ %ç»Ó VÇFÝÌ̂ ç
a) (i) & (3) b) (ii) & (2) c) (iii) & (1) d) (i) & (1)

3. In the absence of colour, how will an object look like?
»e×[ýc÷ÝX %¾Ø�öçTö A×Oô [ýØ�Çö åEõãXEÇõ¾ç åVFç ̂ ç[ý ?
a) Black/Eõ'_ç b) White/[ýGç c) Yellow/c÷ç_WýÝÌ̂ ç d) Pink/m_YÝÌ̂ ç

4. Camels with two hunches known as Bactrian Camel are commonly found in which place in India ?
VÇOôç EÇõL UEõç å[ýEõ®ÏôÝÌ̂  =Oô açWýç»SãTö \öç»Tö» åEõçX Pöç+Tö åYç¾ç ̂ çÌ̂  ?
a) Thar/U» b) Agra/%çG»ç c) Leh/å_c÷ d) Boroda/[ýã»çVç

5. Who gave ‘‘Mahatma’’ the name to Mohandas Karamchand Gandhi?
å]çc÷X Vça Eõ»]$Jôç³V GçµùÝEõ ""]c÷ç±Áç'' Xç] åEõçãX ×V×$K÷_?
a) Gopal Krishna Gokhle/åGçYç_ EÊõbÕ åGçFã_ b) Moulana Azad/]C_çXç %çLçV
c) Rabindra Nath Tagore/»[ýÝ³VÐXçU PöçEÇõ» d) C. R. Das/×$Jô %ç» Vça

6. The rate of inflation is measured by/]ÇVÐçØö�õÝ×Tö» c÷ç» ×Eõãc÷ã» åLçFç c÷Ì̂  ?
a) Wholesale price index/Yç+Eõç»Ý ]Ç_î Töç×_Eõç b) Consumer price index/FÇÅ$JÇô»ç ]Ç_î Töç×_Eõç
c) National income deflation/»çrÑôÝÌ̂  %çÌ̂  âÑ÷ça d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

7. Which is the largest and heaviest internal organ in the human body?
]çXÇc÷» %çOôç+TöêEõ QöçIø» %ç»Ó GWýÇ» %ç\öîÜ�ö×»S %eG ×Eõ ?
a) Liver/Eõ×_Lç b) Lungs/c÷çCg-ZõçCg
c) Heart/c÷ÖV×Y�ø d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂
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8. Which state of India shares its borders with maximum numbers of states?
\öç»Tö» åEõçX »çLî» $Jôç×» aÝ]ç %×WýEõ aeFîEõ »çLî» _GTö ae_GÂ ?
a) Madhya Pradesh/]WýîYÒãV` b) Assam/%a]
c) Andhra Pradesh/%µÐùYÒãV` d) Bihar/×[ýc÷ç»

9. Till date who has been the only woman finance minister of India.
%ç×Lê_ãEõ \öç»Tö» AEõ]çy ]×c÷_ç ×[ýwø]Ü�öÝ åEõçX %ç×$K÷_ ?
a) Indira Gandhi/+×³V»ç GçµùÝ b) Renuka Choudhury/å»SÇEõç æ$JôìWýÇ»Ý
c) Vijay Laxmi Pandit/×[ýLÌ̂ _©¿Ý Y×�øTö d) Mamta Banerjee/]]Töç å[ýXçLÞ

10. Of which organic compound is human hair primarily composed?
YÒçU×]Eõ \öçã[ý ]çXÇc÷» $JÇô×_ ×Eõ éL[ý å^ìG ¥ç»ç G×PöTö ?
a) Protein/YÒ'×OôX b) Vitamin/×\öOôç×]X c) Insulin/+X$JÇô×_X
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

11. Laloo Prasad Yadav, the Railway Minister of India belongs to which Political Party?
\öç»Tö» å»_ ]Ü�öÝ _ç_Ç YÒaçV ̂ çV[ý åEõçX »çLêX×TöEõ V_» aVaî ?
a) Janata Dal/LXTöç V_ b) Rashtriya Janata Dal/»çrÑôÝÌ̂  LXTöç V_
c) Rashtriya Praja Dal/»çrÑôÝÌ̂  YÒLç V_ d) Bihar Janata Dal/×[ýc÷ç» LXTöç V_

12. What is the full form of PAN?
PAN » a�ÉSï »ÖY ×Eõ ?
a) Policy Area Number/Y×_×$Jô A×»Ì̂ ç Xe b) Parmanent Account Number/Yç»]çãX³Oô AEõç=³Oô Xç¶�öç»
c) Place and Number/æYÀ$Jô A�ø Xç¶�öç» d) Parmanent Accession Number/Yç»]çãX³Oô AEõä$Jô$Jô Xe

13. Which of the following plants bears no fruits but produces seeds.
Tö_Tö =ä{F Eõ»ç åEõçX×[ýWý G$K÷» Zõ_ Xc÷Ì̂  ×EõÜ�Çö m×Oô c÷Ì̂  ?
a) Groundnut/[ýçVç] b) Sugarcane/EgÇõ×c÷Ì̂ ç» c) Cycas/$K÷ç+Eõç$K÷ d) Almond/%ç_]�ø

14. The use of computer to get information from data bank is called–
TöUî %çc÷»S» [ýçã[ý Eõ×�=Oôç»» [ýî[ýc÷ç»Eõ ×Eõ [ýÇ×_ åEõç¾ç c÷Ì̂  ?
a) Information retrieval/+XZõ»ã] �̀X ×»×®Ïôã\ö_ b) Information withdrawal/+XZõ»ã] �̀X =+VÐã¾_
c) Computer simulation/Eõ×�=Oôç» ×$Jô]Çã_ �̀X d) Full-Text searching/ZÇõ_äOôjOô $K÷ç»×$K÷e

15. Amnesty International is–
A]ãX×rô %çÜ�öLÛç×TöEõ A×Oô ............................... aeØ�öç---
a) Human right group/]çX¾ %×WýEõç» b) A refugee camp/`»SçUÞ ×`×[ý»
c) A wing of world bank/×[ý �̀ã[ýeEõ» ̀ çFç
d) A UN agency to fight global terrorism/×[ý �̀ aÜ�öça» ×[ý»Óã�ù »çrÑôaeH» A×Oô aeØ�öç

16. Jesus Christ was Crusified in–
^Ý£ ×FÐrôEõ yÇÔ$Jô×[ý�ù Eõ»ç éc÷×$K÷_----
a) Rome/å»ç] b) Jerusalem/åL»ÓLçã_]
c) Alexandria/%çã_jãL³VÐÝÌ̂ ç d) Pisa/×Y$K÷ç

17. Begum Akhtar was associated with–
å[ýG] %çFTöç» ×Eõc÷» _GTö L×QÍöTö ?
a) Music/aeGÝTö b) Instrument/[ýçVî̂ Ü�ö c) Acting/%×\öXÌ̂ d) Politics/»çLXÝ×Tö
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18. Who was regarded as ‘‘Zinda Pir’’?
×L³VçYÝ» [ýÇ×_ EõçEõ LXç ̂ çÌ̂  ?
a) Khawja Nizamuddin/FçLç ×XLç]Ç×�X b) Aurangzeb/D»eãL[ý c) Azan pir/%çLçXYÝ»
d) Nome of these/+Ì̂ çã» AOôçC Xc÷Ì̂

19. Which is the only game in which India has won a gold medal in olympics?
\öç»Tö[ýbï+ %×_×�EõTö ×Eõ åF_Tö AEõ]çy åaçS» YVEõ Yç+×$K÷_ ?
a) Cricket/×yÔãEõOô b) Foot ball/ZÇõOô[ý_ c) Hockey/c÷EõÝ d) Kabadi/Eõç[ýçVÝ

20. Common Salt is–
açWýç»S ×X]F c÷'_----
a) Sodium Chloride/$K÷'×QöÌ̂ ç] æzõç»ç+Qö b) Sodium bi-carbonate/$K÷'×QöÌ̂ ç] [ýç+-Eõç[ýïãXOô
c) Calcium Carbonate/åEõ_×$JôÌ̂ ç] Eõç[ýïãXOô d) Sodium Carbonate/$K÷'×QöÌ̂ ç] Eõç[ýïãXOô

21. The temple at Puri where the deity is an incarnation of Vishnu is called–
×[ýbÇÕ» %¾Töç»»ÖYÝ YÇ»Ý» ]×³V»Eõ ×Eõ ]×³V» [ýÇ×_ åEõç¾ç c÷Ì̂ ?
a) Somnath Temple/åaç]XçU ]×³V» b) Jagannath Temple/LG~çU ]×³V»
c) Amarnath Temple/%]»XçU ]×³V» d) Kamakhya Temple/Eõç]çFî ]×³V»

22. CRY, a famous charitable organisation stands for–
CRY A×Oô åa¾ç]É_Eõ aeGPöX* +Ì̂ ç» %Uï c÷'_-----
a) Child relief and care for you/$Jôç+·Qö ×»×_Zõ A�ø åEõÌ̂ ç» Zõ» +=
b) Child relief and you/$Jôç+·Qö ×»×_Zõ A�ø +=
c) Care for crying child/åEõÌ̂ ç» Zõ» yÔç×Ì̂ e $Jôç+·Qö
d) Child care & you/$Jôç+·Qö åEõÌ̂ ç» A�ø +=

23. What is the time difference between Indian standard time and Greenwich time?
\öç»TöÝÌ̂  %ç»Ó GÐÝ×SL ]çX a]Ì̂ » ]çLTö YçUïEõî ×Eõ]çX ?
a) 6:00 hours/6:00 H³Oôç b) 5 hours 30 minuts/5 H³Oôç 30 ×]×XOô
c) 4:00 hours/4:00 H³Oôç d) 4 hours 30 minutes/4 H³Oôç 30 ×]×XOô

24. Which one is the oldest temple?
Tö_Tö ×VÌ̂ ç åEõçXäOôç ]×³V» %çOôç+TöêEõ YÇ»×S ?
a) Shiv Daul/×̀ ¾ åVì_ b) Jay Daul/LÌ̂  åVì_ c) Devi Daul/åV[ýÝ åVì_ d) Bishnu Daul/×[ýbÇÕ åVì_

25. Finance commission is appointed by the–
×[ýwø %çãÌ̂ çGEõ åEõçãXç ×X Ç̂×Nþ ×VãÌ̂  ?
a) President of India/\öç»Tö» »çrÑôY×TöãÌ̂ b) Prime Minister of India/\öç»Tö» YÒWýçX]Ü�öÝãÌ̂
c) Lok Sabha/å_çEõa\öç+ d) Rajya Sabha/»çLîa\öç+

English / +e»çLÝ

Choose the correct sentence :

26. a) Slow and steady wins the race b) Slow but steady win the race
c) Slow and steady win the race d) Slow and steadiness win races

27. a) A series of lectures have been arranged b) Series lectures has been arranged
c) A series of lectures has been arranged d) Series lectures have been arranged.
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28. a) The riches should help the poor b) The rich should help the poors
c) Riches should help the poor d) The rich should help the poor.

29. a) I am wiser than him b) I am more wiser than he
c) I am wiser the he d) I am more wise than him

30. a) I had gone to Poona last week b) I would go to Poona last week
c) I went to Poona last week d) I was going to Poona last week

31. ‘Call him at once’. The passive voice of this sentence is :
a) You should call him at once b) He must be called at once
c) Let him be called at once d) None of these.

Fill up the gaps with the most appropriate words :

32. The government is trying to spread _________ in the country.
a) woman education b) female education c)feminine education d) womanly education

33. I don’t remember everything of my _______
a) children b) childish c) childhood d) childlike

34. Physical __________ is bad for health.
a) activity b) inactivity c) activities d) inactive

35. Gaurav is a good boy since he has not _______ with me even once.
a) agreed b) supported c) disagreed d) disobeyed

36. In an _________ general meeting it has been decided to take for the rank holders of  ANTSE on an educational tour
to Delhi
a) extra-ordinary b) ultra-ordinary c) mega-ordinary d) sub-ordinary

37. Utpal __________ speak urdu when he had been in Hyderabad.
a) has to b) used to c) must d) will have to

38. When a Camera is on, a red light ________ on it.
a) Will appear b) would appear c) appears d)will be appearing

39. Yesterday’s conference __________ in the auditorium.
a) held b) will he held c) was held d) had held

40. We greet our teachers _________ teacher's day.
a) in b) on c) at d) with

41. Don’t put __________ till tomorrow what you can do today.
a) out b) on c) off d) of

42. The class is divided __________ three sections.
a) in b) to c) in to d) with

4
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43. If it _________ a holiday today, we could enjoy the film ‘Saawariya’
a) is b) were c) will be d) has been

44. He spoke so fluently that everybody was charmed. The Noun form of ‘fluently’ is ____________
a) fluent b) influent c) influency d) fluency

Choose the correct phrasal verb for the underlined words :

45. I shall visit you tomorrow.
a) call in b) call for c) call on d) call up

46. He will continue the work in your absence
a) carry out b) carry on c) get away d)give away

47. The letter ‘C’ represents Chief
a) stands up b) stands over c) stand by d) stands for.

48. The prefix ‘Anti’ means
a) ago b) against c) above d) ahead

49. Be careful when you cross the road, _____________?
a) will you ? b) don’t you ? c) won’t you ? d) can’t you

50. If it rains, the match ______________
a) will cancell b) will be cancelled c) can be cancelled d) may be cancelled

General Mathematics / açWýç»S G×STö

51. The value of  3 22515413811 ++  is–

3 22515413811 ++ » ]çX c÷'_----

a) 12 b) 24 c) 27
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

52. Which one of the following equals 1?
Tö_» åEõçXäOôç 1 » a]çX c÷'[ý ?

a)
13

1

13

1

−
+

+ b)
13

1

13

1

+
−

− c)
13

1

13

1

−
÷

+ d)
13

1

13

1

−
×

+

53. The ratio 4:5 is equal to–
4:5 %XÇYçTöäOôç Tö_» åEõçXäOôç» a]çX c÷'[ý ?
a) 8% b) 0.8% c) 0.08% d) 80%

54. The digit in unit’s place of the product 81 × 82 × .................. × 89 is–
81 × 82 × .................. × 89 YÉ»S Zõ_äOôç» AEõEõ» %eEõäOôç c÷'_----
a) 0 b) 2 c) 6 d) 8
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55. The expression 652 ++ xx  represents the area of a rectangle. The possible length and breadth are respectively–

652 ++ xx  »ç×`äOôçã¾ AOôç %çÌ̂ Tö» ålùyZõ_ aÉ$JôçÌ̂ * a�ö¾Tö éVHïî %ç»Ó YÒØ�ö c÷'[ý yÔã]---
a) x + 2,   x + 3 b) x + 3,  x + 2 c) x – 3,  x + 2 d) x + 3,  x – 2

66. If one third of one-fourth of a number is 15, then three-tenth of that number is–
AOôç aeFîç» AEõ-$JôTÇöUïçe`» AEõ-TÊöTöÝÌ̂ çe` c÷'_ 15, åa+ aeFîçäOôç» ×Tö×X-V`çe` c÷'[ý---
a) 25 b) 36 c) 45 d) 54

57. A shopkeeper marks his goods at 50% above the cost price and allows a discount of 50% on the marked price. His loss
or gain is–
ALX åVçEõçXÝãÌ̂  åTöCg» [ýØ�Çö» ×EõXçVç]TöêEõ 50% å[ý×$K÷ Vç] ×_ãF %ç»Ó ×_Fç Vç]» CY»Tö 50% å»c÷ç+ ×VãÌ̂ * åTöCg» å_çEõ$JôçX [ýç _ç\ö c÷'_---
a) 25% profit b) 25% loss c) 50% profit d) No gain and no loss

58. The area of an isosceles triangle having base of ‘a’cm. and one side of ‘b’cm. is–
‘a’ æ$K÷f×]f \Éö×] ×[ý×`rô %ç»Ó AOôç [ýç§» éVHïî ‘b’ æ$K÷f ×]f c÷'ã_ AOôç a]×¥[ýç§ ×Åy\ÇöL» Eõç×_ c÷'[ý----

a) 2
2

2   
42

cm
b

a
a − b)

2224
4

cmab
a − c)

222 4
2

1
cmbaa + d)

2224
2

cmab
a −

59. If  0 < x <1, then the value of 
x

x
1+  is–

0 < x <1 c÷'ã_ 
x

x
1+  » ]çX c÷'_----

a) Greater than 2 / 2 TöêEõ QöçIø» b) Less than 2 /2 Tö éEõ a»Ó
c) Can not be determined /×XSïÌ̂  Eõ×»[ý Y»ç Xç^çÌ̂ d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

60. A rational number lying between 
3

1
 and 

5

1
 is–

3

1
 %ç»Ó 

5

1
 » ]çLTö UEõç AOôç Y×»ã]Ì̂  aeFîç c÷'_---

a)
150

29
b)

150

59
c)

150

51
d)

150

39

61. How much money is to be invested at 
18

1
4 % per annum simple interest to get an interest of Re. 1 per day?

[ý$K÷×» 
18

1
4 % a»_ aÇTöTö ×Eõ]çX OôEõç FOôçã_ YÒ×Tö×VãX 1 OôEõç a»_ aÇTö åYç¾ç ̂ ç[ý ?

a) Rs. 8000 b) Rs. 9000
c) Rs. 10000 d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

62. Which of the following is a polynomial?
Tö_» åEõçXäOôç AOôç [ý§YV »ç×`----

a) 5
3

3
3

++
y

xy
x b) 32

1 2
2 ++ x

x
c) 22

152

yx

yx

+
−+

d)
y

yxyyx

100

753 323 ++
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63. The root of the equation 
2

16
1

3

16 −=++ pp
 is–

2

16
1

3

16 −=++ pp
 a]ÝEõ»S» ]É_ c÷'_----

a) 11 b)
11

6
c)

6

11

d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

64. Which of the following expressions is not in cyclic order?
Tö_» åEõçXäOôç »ç×` $JôyÔÝÌ̂  yÔ]Tö Xç+-----
a) ( )( )( )accbba +++ b) zxyzxy ++ c) ( )( )( )acbcba −−−

d) ( )( )( )222222 cbbaac −−−

65. A man walking at the rate of 5km./hr. crosses a bridge in 15 minutes. The length of the bridge is–
ALX ]çXÇãc÷ 5 ×Eõf×]f/Hf å[ýãGã» åFçLEõç×RÍô AOôç V_e 15 ×]×XOôTö %×TöyÔ] Eõã»* V_eFX» éVHïî c÷'_-----
a) 600m. b) 750m. c) 1000m. d) 1250m.

66. If n is a negative number, then which of the following is the least?
n AOôç @Sç±ÁEõ aeFîç c÷'ã_ Tö_» åEõçXäOôç» ]çX ×X¶oöTö] ?
a) 0 b) –n c) 2n d) n2

67. A student was asked to simplify the fraction 

3
2

12

3
5

  of  
2
1

1
3
7

+

+
 and his answer was 

2

1
. By how much was his answer wrong?

ALX $K÷çyEõ 

3
2

12

3
5

  of  
2
1

1
3
7

+

+
 \öGÂçe`äOôç a»_ Eõ×»[ýê_ åEõç¾çTö åTöCg» =wø» c÷'_ 

2

1
* åTöCg» =wø»äOôç ×Eõ]çX \Çö_ c÷'_ ?

a) 1 b)
22

1
c)

11

9

d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

68. The value of 
( ) ( )

374.40458.75

458.32542.67 22

−
−

 is–

( ) ( )
374.40458.75

458.32542.67 22

−
−

 » ]çX c÷'_---

a) 1 b) 10 c) 100 d) None of these

7
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69. X can do 
4

1
 of a work in 10 days, Y can do 40% of the work in 40 days and Z can do 

3

1
 of the work in 13 days. Who

will complete the work first?

X åÌ̂  AOôç Eõç]» 
4

1
 %e` Eõ×»[ý Yçã» 10 ×VXTö, Y åÌ̂  AãEõOôç Eõç]» 40% Eõ×»[ý Yçã» 40 ×VXTö %ç»Ó  Z åÌ̂  åa+äOôç Eõç]» 

3

1
 %e` Eõ×»[ý Yçã»

13 ×VXTö* åEõçãX Eõç]äOôç %çGãTö Eõ×»[ý Yçã» ?
a) X b) Y c) Z
d) X and Z both / X %ç»Ó Z =\öãÌ̂ +

70. The polynomial which when divided by 12 +x , gives 232 ++ xx as quotient and 5 as remainder is–

AOôç [ý§YV »ç×`Eõ 12 +x å» \öçG Eõ×»ã_ \öçG Zõ_ c÷Ì̂  232 ++ xx  %ç»Ó \öçGã`b c÷Ì̂  5; [ý§YV »ç×`äOôç c÷'_-----
a) 2772 23 +−+ xxx b) 32 2772 xxx −++ c) 22775 32 ++++ xxx

d) 7752 23 +++ xxx

71. A diagonal of a quadrilateral is ‘d’ units and the perpendiculars to it from the opposite vertices are 
4

d
 units and 

4

3d

units. Area of the quadrilateral is–

AOôç $JôTÇö\ÉöÛL» AOôç EõSï» éVHï ‘d’ AEõEõ %ç»Ó A+ EõSïQöç_ê_ ×[ýY»ÝTö ̀ Ýbï ×[ý³VÇ» Y»ç OôXç _¶�ö VÇQöç_» éVHï c÷'_ yÔã] 
4

d
 AEõEõ %ç»Ó 

4

3d
 AEõEõ*

$JôTÇö\ÉöÛLãOôç» Eõç×_ c÷'_---
a) d2 sq. units/[ýGï AEõEõ b) 2d2 sq.units/[ýGï AEõEõ

c)
2

2

1
d  sq.units/[ýGï AEõEõ d)

4

2d
 sq.units/[ýGï AEõEõ

72. The factors of 222 2 zyxyx −++  are–

222 2 zyxyx −++  » =dYçVEõ c÷'_--

a) ( ) ( )y-zxzyx +++   , b) ( ) ( )zyxzyx +++−   ,

c) ( ) ( )zyxzyx +−−+   , d) ( ) ( )zyxzyx −−−+   ,

73. ( )( ) ( )( ) ( ) ?2 =−+−++++ acbdbadcdcba
a) 4ac b) 2bd c) 2ac d) 2(bd + ad)

74. How long will it take a sum of money invested at 5% p.a. simple interest to increase its value by 40%?
[ý$K÷×» 5% a»_ aÇTöTö ×[ý×XãÌ̂ çG Eõ»ç åEõçãXç ]É_WýX» ]çX ×Eõ]çX a]Ì̂ Tö 40% [ýÊ×�ù c÷'[ý ?
a) 5 years b) 6 years c) 7 years d) 8 years

75. The L.C.M. of two numbers is 48 and they are in the ratio 2:3. The sum of the numbers is–
VÇOôç aeFîç» _.aç.m. 48 %ç»Ó aeFîç VÇOôç» %XÇYçTö c÷'_ 2:3; aeFîç VÇOôç» a]×rô c÷'_-----
a) 28 b) 32 c) 40 d) 64

8
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General Science / açWýç»S ×[ýpûçX

76. The number of electrons possessed by sodium ion [Na+] is
[Na+] %çÌ̂ XTö UEõç +ã_k�ôX» aeFîç c÷'_---
a) 10 b) 11 c) 12 d) 13

77. Brass is an alloy of
×YTö_ Tö_» åEõçXã[ýç» WýçTÇö» aeEõ» WýçTÇö----
a) Cu, Sn b) Cu, Zn c) Cu, Al d) Sn, Pb

78. Two unknown elements X and Y have the electronic configurations 2.8.2 and 2.8.7 respectively. When they react, the
compound formed is likely to have a molecular formula of
VÇOôç %pûçTö å]ì_ X %ç»Ó Y » +ã_k�ôXÝÌ̂  a8ç c÷'_ yÔã] 2.8.2 %ç»Ó 2.8.7* +cg÷Tö» ]çLTö ×[ý×yÔÌ̂ çêc÷ Tö_» åEõçXäOôç å^ìG G×PöTö c÷Ì̂  ?
a) XY b) XY

2
c) X

2
Y d) XY

3

79. The symptoms of tuberculosis are
×Oô=[ýç» åEõçã_ç×$K÷$K÷ (^©¿ç) å»çG» _lùS c÷'_----
1) Loss of weight/CLX åc÷»Ó¾ç 2) Loss of weakness/VÇ[ýï_Töç åc÷»Ó¾ç
3) Pain in the chest/[ýÇEÇõ»ö ×[ýb 4) Paralysis/YlùçHçTö
5) High fever/=¬Jô L�» 6) Persistent cough/åX»çãXãY»ç Eõçc÷
a) 1, 2, 3 b) 1, 3, 4 c) 1, 2, 5 d) 1, 3, 6

80. The main difference between animal and plant cells is
YÒçSÝ %ç»Ó =×àöV åEõçb» YÒWýçX YçUïEõî c÷'_--
a) Animal cells have large vacuoles/YÒçSÝãEõçbTö QöçIø» »aWýçXÝ UçãEõ
b) Plant cells lack plasma membrane/=×àöV åEõçbTö YÀçL]ç %ç¾»S Xç+
c) Plant cells have cell walls/=×àöTö å`bTö åEõçb å[ý» UçãEõ
d) Animal cells lack mitochondria/YÒçSÝ åEõçbTö ]ç+äOôçEõ×³VÐÌ̂ ç Xç+

81. The electrolyte used in a dry cell is
£�õ åEõçbTö [ýî¾c÷ç» åc÷ç¾ç ×[ýVÇîd ×[ýä À̀bî c÷'_--
a) Sulphuric Acid /$K÷ç_×Zõ=×»Eõ A×$K÷Qö
b) A paste of ammonium chloride/A]'×XÌ̂ ç] zõ'»ç+Qö
c) A mixture of ZnSO

4
 and CuSO

4
 solutions./ ZnSO

4 
%ç»Ó CuSO

4 
VÐ¾» ×] Ò̀

d) HCl

82. Which of the following metals is the least reactive one
Tö_» åEõçXäOôç %çOôç+TöêEõ Eõ] a×yÔÌ̂  ?
a) Silver/×$K÷_\öç» b) Copper/EõYç» c) Iron/%ç+»X d) Lead/aÝc÷

83. The chemical name of vitamin B
1
 is

×\öOôç×]X B
1 
» »çaçÌ̂ ×XEõ Xç] c÷'_---

a) Ascorbic Acid/A$K÷Eõ»×[ýEõ A×$K÷Qö b) Riboflavin/×»ã[ýçnõç×[ýX
c) Thyamine/Uç+Ì̂ ç×]X d) Pantothinic Acid/åYä³Oôç×U×XEõ A×$K÷Qö

84. The catalyst used in the reaction  2Heat3 3O2KCl2KClO + →  is

×[ý×yÔÌ̂ çäOôçTö [ýî¾c÷ç» åc÷ç¾ç %XÇHOôEõ c÷'_--
a) SO

2
b) H

2
O

2
c) MnO

2
d) HNO

3
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85. Blood clotting is due to
åTöL åGçOô ]»çTö Tö_» åEõçXäOôçã¾ ac÷çÌ̂  Eõã»--
a) Vitamin A/×\öOôç×]X--A b) Vitamin B/×\öOôç×]X--B
c) Vitamin C/×\öOôç×]X--C d) Vitamin K/×\öOôç×]X--K

86. The loss of electron by an atom or an ion is known as
AOôç Y»]çSÇ [ýç %çÌ̂ X» Y»ç +ã_k�ôX åc÷»Ó¾ç YÒ×yÔÌ̂ çEõ åEõç¾ç c÷Ì̂ ----
a) Reduction/×[ýLç»S b) Oxidation/Lç»S c) Redox/Lç»S-×[ýLç»S d) None of these/AOôçC Xc÷Ì̂

87. One parsec equals to
AEõ Yç»ä$K÷Eõ» ]çX c÷'_---
a) 3.1 × 1010 m b) 6.3 × 104 A.U. c) 1.36 L.Y. d) 3.26 L.Y.

88. Yeast helps in the production of
Tö_» åEõçXäOôç» =dYçVXTö +ärô ac÷çÌ̂  Eõã» ?
a) Sugar/`Eïõ»ç b) Alcohol/A_ËEõ'c÷_ c) Oxygen/%×jãLX d) Insulin/+X$KÇ÷×_X

89. The image formed by a concave lens is always
AFX %¾Tö_ å_³aTö G×PöTö åc÷ç¾ç YÒ×Tö×[ý¶�ö c÷'[ý--
a) Virtual, erect and enlarged/%ad, ×UÌ̂  %ç»Ó QöçIø» b) Virtual, erect and diminished/%ad, ×UÌ̂  %ç»Ó a»Ó
c) Real, inverted and enlarged/ad, Cã_çOôç %ç»Ó QöçIø» d) Virtual, inverted and diminished/%ad, Cã_çOôç %ç»Ó a»Ó

90. Electric current is the rate of flow of
é[ýVÇî×TöEõ YÒ[ýçc÷ Tö_» åEõçXäOôç» YÒ[ýçc÷» AEõEõ ?
a) Matter/YVçUï b) Electrons/+ã_k�ôX c) Protons/YÒOôX d) Charge/%çWýçX

91. In cover of electrical wires, PVC tubes are used. PVC is a polymer compound of
é[ýVÇî×TöEõ Tgöç»Tö [ýî¾c÷ÖTö åc÷ç¾ç PVC X_Ýã[ýç» Tö_» åEõçXäOôç» [ý§ã^çGÝ YVçUï ?
a) Ethylene/+×U×_X b) Phenol and formaldehyde/×ZõX_ %ç»Ó Zõã]ï_×Qöc÷ç+Qö
c) Vinyl Chloride/×\öXç+_ zõ'»ç+Qö d) Polythene/Y×_×UX

92. If a current of 1.5 ampere flows through a conductor and if the potential difference between its two ends is 6 volt, then
the resistance of the conductor is
1.5 A×�Ì̂ ç» YÒ[ýçc÷ $Jôç×_Tö åc÷ç¾ç Y»Ý[ýçc÷ÝQöç_» VÇ+ ]É»» ×[ý\ö¾ã\öV c÷'_ 6 \ö·Oô* Y×»[ýçc÷ÝQöç_» å»çWý c÷'[ý--
a) 3 ohms/3 C] b) 4 ohms/4 C] c) 6 ohms/6 C] d) 1.5 ohms/1.5 C]

93. Which of the following is called the ‘Power House’ of the cell ?
Tö_» åEõçXäOôç åEõçb» "Yç¾ç» c÷ç=$K÷' [ýÇ×_ åEõç¾ç c÷Ì̂
a) Golgi complex/G_Ë×G [ý×Qö b) Ribosome/»ç+[ý'L]
c) Mitochondria/]ç+äOôçEõ×³VÐÌ̂ ç d) Cytoplasm/$Jôç+Oô'YÀçL]

94. The Red Blood corpuscles (RBC) cells can survive for
å_ç×c÷Tö »NþEõ×SEõç (RBC) ×Eõ]çX ×VX» Eõç»ãS LÝ×¾Tö UçãEõ ?
a) 60 days/×VX b) 90 days/×VX c) 120 days/×VX d) 150 days/×VX

95. What is the least distance of distinct vision for human eye ?
]çXÇc÷» &rô VÊ×rô» XÉXîTö] VÉ»±¼ö c÷'_---
a) 20 cm/æ$K÷f×]f b) 16 cm/æ$K÷f×]f c) 30 cm/æ$K÷f×]f d) 25 cm/æ$K÷f×]f
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96. The ratio of the diameter of the sun to that of earth is
aÉ̂ ïî» [ýîça %ç»Ó YÊ×U¾Ý» [ýîça» %XÇYçTö c÷'_---

a) 500 b) 109 c) 20000 d)
109

1

97. Which colour has the least wave length ?
Tö_» åEõçXäOôç [ý»S» %çOôç+TöêEõ Eõ] Tö»eG éVHïî %çä$K÷ ?
a) Red/»Iøç b) Violet/å[ýmSÝÌ̂ ç c) White/[ýGç d) Green/åa=LÝÌ̂ ç

98. A man wears spectacles of power + 4D, What is the focal length of the lens ?
ALX ]çXÇãc÷ + 4D lù]Töç» $Jô`½ç [ýî¾c÷ç» Eõã»; å_³a» ZõEõç$K÷ éVHïî ×Eõ]çX ?

a) 4 cm/æ$K÷f×]f b) 25 cm/æ$K÷f×]f c) – 25 cm/æ$K÷f×]f d)
4

1
cm/æ$K÷f×]f

99. Lime water turns milky when CO
2
 is passed through it due to the formation of insoluble CaCO

3
. But when excess of

CO
2
 is passed through it, the milkyness disappears due to the formation of

$JÇôSYçXÝ [ýGç c÷Ì̂  CO
2
 åG$K÷ YÒ[ýç×c÷Tö Eõ»ç» Zõ_Tö =dY~ åc÷ç¾ç CaCO

3 
» Eõç»ãS; ×EõÜ�Çö å[ý×$$K÷ a]Ì̂  CO

2 
åG$K÷ %×Tö×»Nþ\öçã[ý YÒ[ýç×c÷Tö Eõ×»ã_ [ýGç

[ý»S Xç+×EõÌ̂ ç c÷Ì̂  Tö_» åEõçXäOôç =dY~ åc÷ç¾ç» Eõç»ãS ?
a) CaCO

3
b) CaHCO

3
c) Ca(HCO

3
)

2
d) Ca(OH)

2

100. Which of the following mixtures is water gas ?
Tö_» åEõçXäOôç ×] Ò̀Eõ "¾çOôç» åG$K÷' åEõç¾ç c÷Ì̂  ?
a) CO

2
 + H

2
b) CO + H

2
c) CO

2 
+ 2H

2
d) CO + H

2
O

*** * *
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